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NEUSE=EMEIAXR 39,407,000 39,407
= 27,584
& 3,547




of
i’
oF
uJ

Yo} (e} o <
g g g < S S S &
- o o o M,
Kio
E
E=)
-
"B EEE 3 3 3 2 2 3 z
< < < = - = - - - <
LH3r
<l
RIS
© [N] (8N} [aN] o (=) o
RIEESIE88|8 S888ISSEHIESSHE §888H|ge83|8883|8 8 882388
RN RS P R = = - NN N g
al
<
b=
rH M W W oW o oW o W o oW o oW oW o rir
] ] W W
S 8 S8 8
S S S S
oir g g 8 8
X0 = 5 - m= =
) @ W
N WAO K =
3D =z T ol ® 3z D
I+ Ko Wk _.AH__ ' _.AH__ A0 n0
3 = of H o H - -
. o I R o & oK
= KoK i 00 - ul n oW
_ = m D K1 w9
g | A 3 z i Ta = _
o u s+ v B + M 0 + 3 3 y
Y| o no & oJ ) no &r mm = o RIS S 2
g ny il K0 S 0 i R0 S = il K0 KO K0 =
&l ol H H KO R M I KO <0 iy H Ur~ ur =
) oJ D) il KO ol Tl o] X0 Mo il ol & ~ & KA
x. S oll < = oll <35 ujo oll < RHK K H
I+ 3 &) KO KO




FA F2US
M ForE=N =X
Rl ZOoHRI=X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 410
301 EtE NS 2,050 4,574 N2,524
= 1,640
s 410
01 Al 2E AL S (FREEM 2,050 4,574 N2,524
DEOHRIEZDD] X 2,050,000& 2,050
= 1,640
Ea 410
ZOHQIE LT 260 IHASHZI|(EX) 800 800 0
= 200
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301 EtE N = 800 800 0
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o 600
02 ANBI2HHSFS(HAAS, XNLHE) 800 800 0
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[Ea 600
SEHMUSSAE(EX) 40,788 0 40,788
= 16,316
== 7,342
[Ea 17,130
307 212+01& 40,788 0 40,788
= 16,316
=S 7,342
s 17,130
11 AMISXAIEEX 40,788 0 40,788
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102,300,000 102,300
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764,937
184,075

26,297
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26,297
54,565

262,284
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264,937,000
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54,565

262,284
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500,000

500,000

01 AlZHI

NXGTELEH AESAL
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1,944
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6,480
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6,480
1,944
4,536

6,480

6,480,000&

Mo

6,480
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6,480
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10,943
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36,476
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202,369,000 202,369
= 182,132
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= 7,200
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[ 560
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= 5,400
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s 420
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= 1,800
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== 30
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= 169,604
== 12,720
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2,487,000& 2,487
= 1,990
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16,584,000 16,584
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107,975

450,000
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[Ea 13,125
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NCoIQUAE BAR SBAY
50,0002 x133H 123 79,800
= 23,940
Ea 55,860
1 AMISXAIEEX 4,180 18,000 213,820
1)L-QIQUAIS PRI MAS
4,180,000 4,180
< 1,254
Ea 2,926
402 QI”F X201 & 7,160 0 7,160
= 2,864
< 2,005
[Ea 2,291
02 2II2AI 2 X (OIRTH ) 7,160 0 7,160
NEINLYIIB BIAL X
7,160,000 7,160
= 2,864
== 2,005
[Ea 2,291
THOH= QIS TIAIE (B X) 1,503,805 1,135,311 368,494
= 300,761
= 1,203,044
301 EtE N = 1,503,805 1,135,311 368,494
= 300,761
Ea 1,203,044
02 NBI2HHLFS(HAAS, XNLHE) 1,503,805 1,135,311 368,4%4
JHIHAIE 22802kt IIRLSH 2
g2 1,503,805,000& 1,503,805
== 300,761
o 1,203,044
COIQAANLHEOISEY)(EX) 3,500,000 0 3,500,000
401 AIEHIZL S0 3,500,000 3,500,000
01 Al&H| 3,500,000 3,500,000
NXE 38 XHNEE SSAAL AE
1,957,253,000& 1,957,253
etz 38 XHNEE SSAAL AE
1,542, 747,000 1,542,747
LOSRANEIISEZH(EE) 680,000 380,000 300,000
401 A2 HIRL 201 680,000 300,000 380,000
01 Al&H| 680,000 300,000 380,000
NYXNH L QAANLSEIAHINPRE)
680,000,000 680,000
Jele|dzE(Bx) 565,520 585,520
401 AIEHIX SO 585,520 555,520
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NIZEeeI2L XA
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FRUSXIAIE (FREO 0 110,000 88,000 22,000
401 Al HIZ S OHbI 90,000 68,000 22,000
01 A28l 90,000 68,000 22,000
NS 2217 F2Y W2+
20,000,000 20,000
Nalel EX 2 A=REY 2|29
20,000,000 20,000
ol OIS32 R4 SFHLXAAY EX3
At 20,000,000 20,000
DX Zel2 Z2Y B3 A
20,000,000& 20,000
b2 78ite 22 W=+l
10,000,000& 10,000
405 AtatE = 20,000 20,000
01 ML ESFSHI 20,000 20,000
NHIZ SS0t2 23HIH ot Xt 72
5,000,000& 5,000
NHIS LiHoS 32 0ok 2L
5,000,000 5,000
NEx 0l=5tel 22 oot Xt 7Y
5,000,000& 5,000
Nex Xsote F2Y 20eA 2
5,000,000 5,000
2R 49,000 141,000 /92,000
201 2= 9,000 0 9,000
01 At22t2l] 9,000 0 9,000
NE2E 272 018 SI| =2
9,000,000& 9,000
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01 Al&H| 40,000 140,000 100,000
NeX dFE F2E 2|24d
20,000,000 20,000
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NEx =02 22 B
10,000,000& 10,000
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02 S3=4gl 32,400 25,500 6,900
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307 212+01& 15,000 15,000
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